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(hwquwn npwdltipny)

za; =l o Pntpbuinuwhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wyjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwikap

,::.:J 2 =2 _5 ca" pintebnwihb dwiuubph tnbwnbuwghunwywb == Jwpswyw pneot | $nOnuwyhb pyneok

o nwuwywpgiwb hnnwétbph  wodwonidatpp e
1 12 1|3 |4 5 6 7 8 9
LLNUUGBLL SUUBN 169,487,359.7 158,656,840.7 9,916,429.0
2100{01|/0 | O oun<ULNEN ALNE3RBH LULNU3LL 14,617,191.7 12,377,749.8 2,239,441.9
ounusnt@3NFLLEN

wyn pynLd’

2110|101 | 1 | 0 |OpbGunpp L gnpdwnhp dwpdhGabp, 12,868,142.7 12,132,016.8 736,125.9
wbwnwhwl Yuewdwpnid, phGwbuwlwl b
hwpyuwpimgbuwnuyhl hwpwpbpnipini GGG,
wnunwphl hwpwpbpnipiniGGap
nphg’

211101 | 1 | 1 |OpGlunhp L gnpéwnhp dwndhbbtp, wewnwywb 12,841,247.7 12,105,121.8 736,125.9
Ywrwdwnnid
wyn pynLd’
1. Ywpwdwpdwl Jupdih wwhwwbntd 12,756,769.2 12,066,121.8 690,647.4
- U2uwwinnnGbnh w2fuwwnwywndbp L 4111 8,926,555.9 8,926,555.9 -
hwyblwygwnlbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuniunidObn b 4112 714,124.7 714,124.7 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 238,573.4 238,573.4 -
- UndntGwy SwrwynipintbbEn 4213 21,149.5 21,149.5 -
- Ywuwh SwrwjnipnLtGbn 4214 346,944.6 346,944.6 -
- Uywhnjwgnwywb dwfuubin 4215 17,587.0 17,587.0 -
- Qnyph L uwppwynpnidtbph yupdwywinipinta 4216 73,320.0 73,320.0 -
- Lkipphb gnpéninnLibbn 4221 6,100.0 6,100.0 -
- UpuinwuwhdwOwb gnpéninniibbph gény dwjuutin 4222 59,000.0 59,000.0 -
- Ywnswywl SwewjnipyntbGbbn 4231 15,250.0 15,250.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 113,219.6 113,219.6 -
- Uluwwnwywqih dwubwghunwywb qupgugiwl 4233 26,000.0 26,000.0 -

SwrwjnLpnLbbEn
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- SbnGYwuinywywh swrewjnipyntGbbn 4234 42,750.0 42,750.0 -
- Ywrwywnswywb swewjnipntbbbn 4235 116,000.0 116,000.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 69,860.0 69,860.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGOEn 4239 79,413.8 79,413.8 -
- Uwulwghunwywb swrwjnipjntbbbn 4241 20,805.1 20,805.1 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 252,803.8 252,803.8 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 68,836.2 68,836.2 -
- Spwluwnpuwihb Gnipkn 4264 229,841.5 229,841.5 -
- Ushgwnuwihb L hwbpwhG ubbnh OjneeEn 4267 54,012.7 54,012.7 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 16,739.5 16,739.5 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 367,282.0 367,282.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4638 42,600.0 42,600.0 -
hwiwjopwht wrluinpwiht YuwqdwytpwneentGbsph
- W Gwwunbbp pinuobihg 4729 58,500.0 58,500.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 11,000.0 11,000.0 -
Juaquwybpwnipyntbtphl
- Mwpunwnhp y&wnobn 4823 17,852.5 17,852.5 -
- Uj) Swiuubn 4861 60,000.0 60,000.0 -
- Spwluwnpuwihb uwppwynnpniibbn 5121 346,790.0 - 346,790.0
- Ywnswywb uwppwynnpniibbp 5122 162,262.4 - 162,262.4
- Wy dbpbawobp L uwppwynpniibbp 5129 128,195.0 - 128,195.0
- Ng Gynipwywl hhoOGwywb shonglbp 5132 53,400.0 - 53,400.0
2. Ywpswluwl opylyunGlph uenignid L 84,478.5 39,000.0 45,478.5
hhdGwGnpnqnid
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 39,000.0 39,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 45,478.5 - 45,478.5

2113|01| 1 | 3 |Upuwphl hwpwpGnpnigntbGep 26,895.0 26,895.0 -
wyn pynLd’
1. GpLwl punuwphl dhowqquihl Juwnplwlhy 14,000.0 14,000.0 -
20Gnphbyni dweuwynipintGGGph nhdwg yswnpdwl
dwifuubin
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 14,000.0 14,000.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2. UbGnwdwlgnipjulb YKwnpbbp 12,895.0 12,895.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 12,895.0 12,895.0 -
Juaquwybpwnipyntbtphl

2130|101 | 3 | 0 | Lanhwhnip pGnyph SwrwynipniGGEn 33,983.0 33,983.0 -
nphg’

213101 3 | 1 |Ufuwunwlwqdh /Yunnpbph/ gény pnhwbnip pGnyeh 33,983.0 33,983.0 -
SwrwjnLpnLbbEn
wyn pynLd’
1. Pwnwpwghwlwl Yugnipjwl wlwnbph 33,983.0 33,983.0 -
qpuiGguwl Gwpuyni pjwl gnpdnt Ghniprul
Yuwqiwlybpynid (wundhpwldwé
[hwqnpnipni GGER)
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 29,238.3 29,238.3 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLGGen 4212 3,505.3 3,505.3 -
- UndntGwy SwrwynipntbbBn 4213 214.4 214.4 -
- Ywuwh SwrwjnipnLtGbn 4214 500.0 500.0 -
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 350.0 350.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 150.0 150.0 -
- Mwpunwnhp y&wnobn 4823 25.0 25.0 -

2150|101 | 5 | 0 |LanhwlGnip pGnuyph hwapuyhl 1,503,316.0 - 1,503,316.0
SwreuynLpyntGGEph gény hbunwgnunwlwl b
Owfuwqduyhl wpfuwnwlplbn
nphg’

215101 | 5 | 1 |COnhwbntp panyph hwapwihb Swewinipintbbtnh 1,503,316.0 - 1,503,316.0
qony hGuinwgnunuwywo L bwfuwgdwihG
wfuwunwbpltn
wyn pynLd’
1. Lwfuwqduyhl wipfuwnwlplbp 1,188,916.0 - 1,188,916.0
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 1,188,916.0 - 1,188,916.0
2. Gpluwil punuiph qfuwynp hunwluwqdh 250,000.0 - 250,000.0
hnwlwlwgdwl Yapniénipinil
- LwjuwgswhbGunwgnunwywb dwfuutin 5134 250,000.0 - 250,000.0
3. Chlptiph L phGnipiniGGEph hGunwgnunduwl 64,400.0 - 64,400.0
wpfuunnuwliplbin
- LwjuwgswhbGunwgnunwywb dwiuutin 5134 64,400.0 - 64,400.0

2160|01| 6 | O | LanhwhGnip pGnuyph hwapuyhl 211,750.0 211,750.0 -

SweuynLpynL GGG (wy nwubphl swwnlwlnn)

nphg’

23




za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

2161 | 01 1 [CanhwGnip pOnyph hwlpwihG swrwjnienLGbGEn (wyg 211,750.0 211,750.0 -
nuwubphb swywunywbnn)
wyn pynLd’
1. DhonLdGbp, hwygunhdnidlbp, nunwpwiGh 184,700.0 184,700.0 -
npnnidGGph L YAhrGEph nbd YbGpwpllhs b
YApwpbl pnnnplbn GEpyuywgllhu
uwhdwlywd YAwpnidalbp
- Mwpunwnhp y&wnobn 4823 184,700.0 184,700.0 -
2. Qnuyph GLundwdp hpwyniGplEph 27,050.0 27,050.0 -
qpuiguwl, quwhwwndwl b
wnbntyuwwnynipiul tnnpuwdwnpdwl hbun
Ywwywé Jawpnidlln
- Uwulwghunwywb swrwjnipjntbbn 4241 8,000.0 8,000.0 -
- Mwpunwnhp y&wnobn 4823 19,050.0 19,050.0 -

2200(02| 0 | 0 nUCSMULNHB3NFL 94,260.0 25,860.0 68,400.0
wyn pynLd’

2220|022 | 2 | 0 | Pwnuwpwghwwl wwywnwwlnipinta 79,400.0 11,000.0 68,400.0
nphg’

2221|102 | 2 | 1 |Pwnwpwghwywb wwunwwbntentb 79,400.0 11,000.0 68,400.0
wyn pynLd’
1. Puwnwpwghwlwl wuwpwnwwanpjwala 79,400.0 11,000.0 68,400.0
wowlgnipint G
- SbnGYwuinywywh swrewjnieyntGbbn 4234 5,000.0 5,000.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 6,000.0 6,000.0 -
Gnpngntd b wwhwwOnid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 30,000.0 - 30,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 38,400.0 - 38,400.0

225002 | 5 | O | Nwpwnwwlnipyni b (wy nuubphl swwainlwbnn) 14,860.0 14,860.0 -
nphg’

2251102 | 5 | 1 |Mwunwwbntpintb (w)p nwubphb swwwnywhnn) 14,860.0 14,860.0 -
wyn pynLd’
1. 2hGwwwmunGbiph hwyJwedwl, gnpuwlynsh, 8,350.0 8,350.0 -
gnpwhwduwph b Jupdwlulb hwywplbph
YuquwlbpwdwOa wowlgnipim
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 1,500.0 1,500.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 6,850.0 6,850.0 -
2. Uypawnpwlpuyhl wipfuwnwlpuyhl 6,510.0 6,510.0 -
Swipuyni gyl hppwiluiGuigni J
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 6,510.0 6,510.0 -

(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
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Pwdh

Snnh
hunip

Thuu

Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw
nuwuwywngiwb hnnwdétbph wodwOniibtpp

wyn pynd’

LOnwikOp

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

9

2400

04

o

SuStUULUL <UnurcMNtE3NFLLEN

59,287,212.5

60,540,466.9

(1,253,254.4)

wyn pynLd’

2410

04

LanhwGnip pGnyph wnGunbuwlwa,
wrbinpuyhl b wpfuwnnwGph gény
hwpwptpnipnGGGn

4,784,791.6

3,161,039.9

1,623,751.7

nphg’

2411

04

CanhwOntp pbnyph tnbwnbuwywb L welnpwih
hwpwpbpnienLGbbn

4,784,791.6

3,161,039.9

1,623,751.7

wyn pynLd’

1. hpwywfuwfun 2pohly welunph Yaunp yud
wpwluwnpunuyhl dhongn hunnly tnwpwép
wnbnunhnfudwl b wwhwwidwl dwewyntpinti

15,000.0

15,000.0

- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn

4239

15,000.0

15,000.0

2. hlplwluid wnbnwnpduwd welbinph,
SwepuynipyntG0Gph dunnigdwl opyiyunbGbnh
wwywdnbwnwddwl, wnbnwhnfudwl b
wwhuwwGdwl dwrwynipintGaGGn

15,000.0

15,000.0

- Canhwlntp pGnyph wjp SwrwjnLpnLtbOEn

4239

15,000.0

15,000.0

3. Gypnwwluwb GepnpniduyghlG pwlGlyh
wowlygni pjwid) wlhwlwagynn «GpLwl,

taGpquiwipnm Gwybunnpiuly dpughp

791,384.0

65,609.5

725,774.5

- Upuinwph0 ywnytph gény itnnynuwdwnbbn

4422

65,609.5

65,609.5

- GLlpbph L 2hOneyntG0bnph Yuwwhuwy yepwbnpngnid

5113

592,098.5

592,098.5

Lwiwdhbwubuwynpdwdp hpwywbwgynn Spwgnknp
6L /Ywd/ywwhwnwy wyinhyh dbrp ptipnid

5511

133,676.0

133,676.0

4. Uplbywl GYpnuuyh tabpquifubuynnnipyuwl
L plwwwhwwlGwlwl gnpéplybpnippulb
Hbnlnh wowlygni ppudp hpwlwawgynn

«GpLwih FaGpquwpynt Gwybunnpiuwly
ppwdwpGnphuyhl 6pwghp

522,977.2

522,977.2

- GLlpbnh L 2hOneyntG0Bnph Yuwwhunwy yepwbnpngnid

5113

426,653.2

426,653.2

Lwiwdhbwubuwynpdwdp hpwywbwgynn Spwgnknp
6L /Ywd/Yywwhwnwy wyinhyh dbrp ptpnid

5511

96,324.0

96,324.0

5. «GpLwlhp FaGpquiwpnn GwybGunnpiulby
Snwgpp hwdwpplbubuwdnpnid

200,000.0

200,000.0

- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid

5113

200,000.0

200,000.0

6. GYnnwwlwl Gapnpntdughl pwllyh

wowlygni pjwid) whwlwagynn Gplwl,

taGpquiwipnm GwyGwnnipwl spwagnph Gpypnpn

thnyy (BwGluwwwnpunbqlbnh L wy hwipuyhlG
Gl pk, G&pquwinnniGwdGwnn piul

pwpbywynid) (wwndhpuwlydws

[hwqnpnipni GGER)

2,184,039.2

2,184,039.2

- W Swfuubin

4861

2,184,039.2

2,184,039.2
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
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o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9
7. GYpnuwlub GEpnpnidughl pwiGlyh 881,391.2 881,391.2 -
wowlgni pjuid) wlwGwgynn Gpluwl
GGpquiwipnynt Gwdbunnt pjulb
npwduwGnphuyhl spwgph Gpiypnpn thny
(Jwliyuwwwpuwnbqltinh b wy hwGpuyhl
Gl pk, GEpquwipnynt Gwdbunnt pjulb

puwpbjwydn U) (wundppwlwé
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 881,391.2 881,391.2 -
8. Gpluwlbh Fobpguwpnm Gwybuwnnpiwl 175,000.0 - 175,000.0
Gplpnpn épwaph hwduylpuyhl
hwiwphGuwlbuwynpnd
Lwiwdhlwubuwynpiwdp hpwywbwgynn dpwgnpbn 5511 175,000.0 - 175,000.0
6L /Ywd/ywwhwnwy wyinhyh dbrp ptpnid

2420|04 | 2 | 0 | YmupwnGunbunipyni b, whnweuyhla 136,884.5 - 136,884.5
wnbwnbunipinil, d4Gnpunipinl L
npunpnnipinLG
nphg’

2424|104 | 2 | 4 |NengnLd 136,884.5 - 136,884.5
wyn pynLd’
1. Nenquwl gulgh Yuenignid L 136,884.5 - 136,884.5
YGpwlnpngniJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 104,884.5 - 104,884.5
- GLlpbph L 2hOneyntGbBnph Yuwwhuwy yepwbnpngnid 5113 32,000.0 - 32,000.0

2450|104 | 5 | 0 | Spwhuwnpwn 58,916,383.5 54,221,818.1 4,694,565.4
nphg’

245104 | 5 | 1 |Bwlwwwphwihb wpwOuwnpun 39,636,344.2 35,968,618.8 3,667,725.4
wyn pynLd’
1. Uupuwyuin-pbunnlyw swdlyh Ybpwlnpngnid L 3,043,000.0 3,043,000.0 -
wwhuwwbnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,043,000.0 3,043,000.0 -
wwhwwntd
2. Uuhwlwl qupquigdwl pwlyh 6,266,045.6 6,266,045.6 -
wowlgni prudp hpwiluiGuigynn pwinwpuyhl
qunquigdwl GEpnpnidughlG
Spwaghp(wundhpwldwé hwgnpnipini GGEn)
- Uj) Swiuubn 4861 6,266,045.6 6,266,045.6 -
3. Gqnwpwnptinh YGpwanpngnid 261,551.2 261,551.2 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 261,551.2 261,551.2 -
wwhwwntd
4. <Ghwwunnbph JGpuwlbnpngnid 235,357.8 59,500.0 175,857.8
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 59,500.0 59,500.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 48,788.8 - 48,788.8
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1 1213 |4 5 6 7 8 9

- GLlpbnh L 2hOneyntGOEnph Yuwwhunwy yepwbnpngnid 5113 127,069.0 - 127,069.0
5. <GwnhnuinlG wlgndGlph Yuemgnid L 80,000.0 - 80,000.0
YGnwlnpngniJ
- GLlpbnh L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 80,000.0 - 80,000.0
6. Ywidnouyhl Ywrn gdwéplbph 295,000.0 95,000.0 200,000.0
Yepwlhwiqlnd b wwhwwlmd
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 95,000.0 95,000.0 -
wwhwwntd
- GLlpbph L 2hOnepyntG0Enph Yuwwhuwy yepwbnpngnid 5113 200,000.0 - 200,000.0
7. Uuhwlwl qupquigdwl pwlyh 3,500,000.0 3,500,000.0 -
wowlygnipyudp ppwlwlwgynn pwnwpuyhl
quinquguwl GapnpntduyhlG dpwgph hpwgdwa
UhongwenidGbn
- W Gwwuinbbp pinuobihg 4729 3,500,000.0 3,500,000.0 -
8. Uuwypninplbiph L thnnnglbph 1,854,083.8 1,010,153.2 843,930.6
YGpwlhwenignid L hhdGwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 257,000.0 257,000.0 -
wwhwwntd
- W Gwwuinbbp pinuotihg 4729 753,153.2 753,153.2 -
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 396,399.8 - 396,399.8
- GLlpbph L 2hOneyntG0bnph Yuwwhuwy yepwbnpngnid 5113 405,530.8 - 405,530.8
- Wy dbpbawobp L uwppwynpniibbp 5129 42,000.0 - 42,000.0
9. ®nnnglbbiph wwhwwinid by ;whwgnpénid 29,089.1 29,089.1 -
- EGGpgbuinhy swrwynipnLGGen 4212 868.3 868.3 -
- Ywuwh SwrwjnipnLtGbn 4214 444.0 444.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 5,000.0 5,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 22,776.8 22,776.8 -
wwhwwntd
10. UdwinnbyuywGunnbnh Yuquiwlbpnwdwl 422,034.0 422,034.0 -
Swpuyntpnt o
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 62,034.0 62,034.0 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- Uj) Swiuubn 4861 360,000.0 360,000.0 -
11. BapwhwppwlGbph Yuenignid 24,500.0 14,500.0 10,000.0
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 14,500.0 14,500.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 10,000.0 - 10,000.0
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12. Uuhwlwl qupquigdwl pwllyh 2,016,240.8 2,016,240.8 -
wowljgni prudp hpwilquiGuigynn punuwpuyhl
quinquigiwl Gepnpnduyhb épwgph
hwdwywpagm d L juewywpnid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Swfuubin 4861 2,016,240.8 2,016,240.8 -
13. ®nnnglbiph, hpwwwpwlbbph L uyghbbph 272,437.0 12,500.0 259,937.0
Yuhwynpnig
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 12,500.0 12,500.0 -
wwhwwntd
- Wy dbpbawobp L uwppwynpniibbp 5129 259,937.0 - 259,937.0
14. Awlwuwwphuyhl Gpplbyn piwl 765,928.6 765,928.6 -
widwnwbqnipiul wwywhnynid b
Swlwwywnphunpwluwnpuughl
wuwwnwhwplbph yuwlfuwnpgbnid
(wuwwnyd hpuwiydwé (hugnpnipini GGGn)
- EGGpgbuinhy swrwynipnLGGen 4212 48,000.0 48,000.0 -
- Wy 6wluutp 4861 717,928.6 717,928.6 -
15. <wlpuyhl Gppninuyhlt wnipwGuwnpuinyg 17,278,234.9 17,278,234.9 -
nipbnpunhnfuwnpdwl éwewynipint
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 17,278,234.9 17,278,234.9 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
16. YbnqbGwnlyw bGYunpunnpwGuwnpunny 1,194,841.4 1,194,841.4 -
nipbnpunhnfuwnpdwl éwewynipint
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 1,194,841.4 1,194,841.4 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
17. Spwluwnpunuwghl hwdwlwpgh 2,098,000.0 - 2,098,000.0
wpnhwluwlwgntJ
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 580,000.0 - 580,000.0
- Spwluwnpuwihb uwppwynnpniibbn 5121 1,518,000.0 - 1,518,000.0

245504 | 5 | 5 |[unnnwywpwpwih0 b wy; bpwbuwnpun 19,280,039.3 18,253,199.3 1,026,840.0
wyn pynLd’
1. dbpGjwlyGph hhdGwlnpngnid 1,026,840.0 - 1,026,840.0
- Wy ubpbawobp L uwppwynpniibtbp 5129 1,026,840.0 - 1,026,840.0
2. GplwGh dewnpnunihunbiGh wpfuwunwlplbnh 4,876,936.0 4,876,936.0 -
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 4,876,936.0 4,876,936.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
3. Gypnwwluwb GepnpniduyghlG pwlGlyh 236,263.3 236,263.3 -
wowlgni pjuid) wlwGwgynn Gpluwl
dawnpnwn punbah JEpwlwemgdwa pnypnpn
Snwghp /wunnd ppwilydwé (hugnpnipini G6GEp/
- Uj) Swiuubn 4861 236,263.3 236,263.3 -
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4. GpLwiGh dGwnpnwnihunbGh 9,640,000.0 9,640,000.0 -
Glopwlwenigdwdpllinh Ywemgnid
- Uj) Swiuubn 4861 9,640,000.0 9,640,000.0 -
5. Gpluwlbh dawnpnwnipunbiGh 3,500,000.0 3,500,000.0 -
Glapwlwenigdwdpllinh Gnpngnid
(wuwwnyd hpuwiydwé (hugnpnipini GGbn)
- Uj) Swiuubn 4861 3,500,000.0 3,500,000.0 -

2470|104 | 7 | 0 | Uy phwquywrltn 142,000.0 122,000.0 20,000.0
nphg’

2473|104 | 7 | 3 |2pnuwynentpntl 142,000.0 122,000.0 20,000.0
wyn pynLd’
1. 2pnuuippgnipyul quipquigntd 142,000.0 122,000.0 20,000.0
- SbnGYwuinywywh swewjnipyntGbbn 4234 32,000.0 32,000.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 90,000.0 90,000.0 -
- Ng Gynipwywl hhoGwywb shonglbbp 5132 20,000.0 - 20,000.0

2490|104 | 9 | 0 | SGwnbuwlwh hwpwpbpnipinGGEn (wy (4,692,847.1) 3,035,608.9 (7,728,456.0)
nwubphl swuwnluwbnn)
nphg’

249104 | 9 | 1 |SGnbuwywb hwpwptpnintGbtn (wy nwubph (4,692,847.1) 3,035,608.9 (7,728,456.0)
swwuinywlnn)
wyn pynLd’
1. 2pnpG6ph wbnwnpnid 25,000.0 25,000.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 25,000.0 25,000.0 -
2. Upwilygnipini O hwduwylipuyhla 53,801.7 53,801.7 -
Ywqdwlbpuwnipin GGERHG
hninwnpyuwynpnipini GGGpH hbwn uwwds
wiyswp dweuwyntpintGGbph dwwnnigdwl L
qliptquwlwwnbbph wwhwwidwa hwdwn
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 42,001.7 42,001.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
- LOpwghy npwdwbnphbbp wewnwywb L 4637 11,800.0 11,800.0 -
hwdwyGpltbph ng wrbnpwihG
Juaquwybpwnipyntbtphl
3. Ywpwywpdwl L wnbnbyuwwndwluwl 720,189.4 720,189.4 -
wbfulninghwlbph qupquignid
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 720,189.4 720,189.4 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
4. Upwiygnipini b hwduwylpuyhl L ng 291,142.8 291,142.8 -
hwiwyGpuyhl uqdwlbpwnipim Gabph
dpwanbnph
- Uy pbpwghy npwiw0Gnphbtn 4639 155,587.1 155,587.1 -
- W Ywwhunwi npwdwbnphltn 4657 30,000.0 30,000.0 -
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- LdhpwwnynipyntbGbp wy whniyp shGunwwGnnn 4819 105,555.7 105,555.7 -
Juaqiwybpwnipyntbtnhl
5. N5 dhbwluwluwl whywnhydbbph ownnwpnidhg (8,002,000.0) - (8,002,000.0)
dnuunpbin
uucunNdg ant3eh hPUsNtUhS UNESLEN 8111 (2,300,000.0) - (2,300,000.0)
cunrguuuu ank3eh hPusNEUNS UNESLEN 8121 (2,000.0) - (2,000.0)
<N1h hPUSNHUKS UNESLEN 8411 (5,700,000.0) - (5,700,000.0)
6. Upwnwphl dbwynpnid 742,792.0 742,792.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 612,750.0 612,750.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 12,250.0 12,250.0 -
wwhwwntd
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 117,792.0 117,792.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
7. hapGuwlywd Yurnigblinh pwannid 77,500.0 77,500.0 -
- Uj) Swiuubn 4861 77,500.0 77,500.0 -
8. Ubpnpniduyhl épwagpbiph hppwlwlwgnid 342,383.0 342,383.0 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 342,383.0 342,383.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
9. <puwnwwy (nidnid wwhwlgnn pGpwghly 767,000.0 767,000.0 -
upfuwnnulplbipnh Apwlubwgn: J
- Uj) Swiuubn 4861 767,000.0 767,000.0 -
10. YwpuuwyunnGbph L gnijpk; whwwintd 800.0 800.0 -
- EGGpgbuinhy swrwynipnLGGen 4212 800.0 800.0 -
11. Ctlpbph qbnwnydbuwnwluwl (ntuwynnnid 288,544.0 15,000.0 273,544.0
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwntd
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 273,544.0 - 273,544.0

25001050 | 0 cNRUYU Uhudu3Nrh mucsmuunt@3Ntu 12,529,108.7 11,053,034.5 1,476,074.2
wyn pynLd’

251005 | 1 | 0 |UnpwhwlGmd 7,070,304.4 5,953,590.5 1,116,713.9
nphg’

2511/05| 1 | 1 |UnpwhwnLd 7,070,304.4 5,953,590.5 1,116,713.9
wyn pynLd’
1. Unpwhwlnipntb b uwGhunwpwlywl 1,058,893.4 34,000.0 1,024,893.4
duwpnnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 34,000.0 34,000.0 -
wwhwwlntd
- Spwluwnpuwihb uwppwynnpniibbn 5121 904,980.0 - 904,980.0
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- Wy dbpbawobp L uwppwynpniibtbp 5129 119,913.4 - 119,913.4
2. Unpwininbiph uywuwnpldwl b 231,511.0 231,5611.0 -
2hGwpwpuwlywl wnph wnbnuhnfudwl
Swpuyntpnt GGG
- UndntGwy SwrwynipntbbBn 4213 231,511.0 231,511.0 -
3. «Gplwlh wnpwhwbnipinib b 5,751,100.0 5,659,279.5 91,820.5
uwlhnwpwlul dwppnidy hwdwyGpuyhl
hhdGwnplyp wwhwwGdwo swiluubin
- U2uwuinnnGbph w2fuwwnwywndbp L 4111 3,477,555.6 3,477,555.6 -
hwyblwyswnbbp
- Muwnqlwunpnuiltp, npwdwyw fupwiuntunidObn b 4112 97,636.3 97,636.3 -
hwuwnniy ygwnltn
- EGGpgbuinhy swrwynipnLGGen 4212 13,104.0 13,104.0 -
- UndntGwy SwrwynLpntbbEn 4213 5,600.0 5,600.0 -
- Ywuwh SwrwjnipnLtGbn 4214 2,685.6 2,685.6 -
- Uywhnjwgnwywb dwfuubin 4215 21,895.0 21,895.0 -
- Qnyph L uwppwynpnidbtph yupdwywintpinta 4216 2,000.0 2,000.0 -
- {wiwywngswihb dwrewjnipynLblbn 4232 4,850.0 4,850.0 -
- Canhwlntp pGnyph wy| SwrwjnLpnLtGbEn 4239 24,576.0 24,576.0 -
- Uwubwghunwywb swrwjnipjntbbbn 4241 1,000.0 1,000.0 -
- UbpGOwlbph L uwppwydnpnidbbph pbpwghy 4252 333,400.0 333,400.0 -
Gnpngntd b wwhwwOnid
- Qpwubwyuwh Gnipbp LW hwgniuwn 4261 31,050.0 31,050.0 -
- Spwluwnpuwihb Gnipkn 4264 1,355,642.0 1,355,642.0 -
- Ushgwnuwihb L hwbpwhG ubbnh 0NN 4267 1,780.0 1,780.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 277,100.0 277,100.0 -
- Mwpunwnhp y&wnobn 4823 7,405.0 7,405.0 -
- Uj) Swiuubn 4861 2,000.0 2,000.0 -
- Jwpswywb uwppwynpniibbn 5122 8,820.5 - 8,820.5
- Wy ubpbawobp L uwppwynpniibtbp 5129 83,000.0 - 83,000.0
4. Gplwl pwnuwph Ynywn puhnGlGbph 28,800.0 28,800.0 -
Yupwywpnid
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 28,800.0 28,800.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2520|105 | 2 | 0 | Yanuwgntph hGrwgntd 62,000.0 62,000.0 -
nphg’

2521|05| 2 | 1 |Ubnuwentph htrwgntd 62,000.0 62,000.0 -

wyn pynLd’
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1. Bpnwhbrwgdwl YndniGhywghnl guiligbph 62,000.0 62,000.0 -
Yupnignid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 62,000.0 62,000.0 -
wwhwwntd

2530|105 | 3 | 0 | Cpowlw showduyph wnunnundwl nbo wwypwn 17,100.0 17,100.0 -
nphg’

2531(05| 3 | 1 |Onh wnunundw nbd wwjpwn 17,100.0 17,100.0 -
wyn pynLd’
1. Sppwlw dhowduyph bi onh wnuinundwl 17,100.0 17,100.0 -
nbd dhongwenidGbph hpwlwlwgnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 2,800.0 2,800.0 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 14,300.0 14,300.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2560|105 | 6 | 0 |Cpowlw vhowduwyph wwpwnwwGnipinil (wyy 5,379,704.3 5,020,344.0 359,360.3
nwubphl swuwnluwbnn)
nphg’

2561|05| 6 | 1 |Cpowyw thowywinh wwwnwwbnipntlt (wy nwutnhl 5,379,704.3 5,020,344.0 359,360.3
swwinywlnn)
wyn pynLd’
1. Ywlws wnwpwdplbph hhoGnid L 4,771,613.1 4,591,452.8 180,060.3
wwhuwwbnig
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 4,591,452.8 4,591,452.8 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 180,060.3 - 180,060.3
2. Ufunnwhwldwl L dhpwwnwqbpddwl 27,171.0 27,171.0 -
Swipuynipyni 6G6Gp /nbrunnhquighw
- UndntGwy SwrwynipntbbBn 4213 27,171.0 27,171.0 -
3. Qtuwnbiph hniG6ph dwppmy 38,683.0 38,683.0 -
- UndntGwy SwrwynipntbbBn 4213 38,683.0 38,683.0 -
4. GpLwlywl (Ah 61 <pwgnwl gbwnh 81,900.0 81,900.0 -
plwwywhwwliwlwl wwpwnwwbntd &1 duwppnitd
- UndntGwy SwrwynLpntbbEn 4213 81,900.0 81,900.0 -
5. Bunhwenn YaGnwahGEph Jawuwqbndnid 278,937.2 278,937.2 -
(uwnbiph hquighw)
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 278,937.2 278,937.2 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
6. Cpowlw dhowduynh wuwpwnwwlni pjuwl 179,300.0 - 179,300.0
Glpwlwem gwdplbinh quinquignid
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 179,300.0 - 179,300.0
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pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

wyn pynd’

LOnwikOp

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7. <pwqnuwb Ypnah L Gplwljwt (Ah
pwnbywpaqnid

2,200.0

2,200.0

- UndntGwy SwrwynipntblGn

4213

2,200.0

2,200.0

2600

06

pLULUNULUSKL ChLUuNuNNEHB3NFL G4
unUNFLUL dunuanke@3NtuLEN

12,255,781.0

7,456,126.3

4,799,654.7

wyn pynLd’

2610

06

Phwhwnwluyhl ;hlGwpwpnipim

7,920.0

7,920.0

nphg’

2611

06

ROwywpwbwihb 2hGwpwnninLl

7,920.0

7,920.0

wyn pynLd’

1. 2nppnpn wuwnhAwlh Ypwpuyhl 26Gpkph
pwlndwl hGwnlwlpny

phwlywnwnwdént pin GGEphg gpyywé
plawyhsG6nh Ynnohg Jupdwlwjws
plwlwnwlGbph thnfuhwwnnignid

7,920.0

7,920.0

- Qnyph L uwppwynpnidbtph yupdwywintpinta

4216

7,920.0

7,920.0

2640

06

®nnnglbtph (ntuwynpnid

5,946,606.0

5,761,931.0

184,675.0

nphg’

2641

06

®nnnglbph |ntuwynnpnid

5,946,606.0

5,761,931.0

184,675.0

wyn pynLd’

1. Upwnwiphl jntuwynpnipiwl guiligh

wpnhwluwlwgntJ

184,675.0

184,675.0

- GLlpbph L 2hOnepyntGbEnph Yuwwhuwy yepwbnpngnid

5113

184,675.0

184,675.0

2. Upwnwphl jntuwdnpnipiwl gulgh
2whwaqnpodwl b wwhwwGdwl

wpfuunnuwliplbin

3,948,030.7

3,948,030.7

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

4511

3,948,030.7

3,948,030.7

3. Ybpwlwenigdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjwly npwdwGnphughl Spwghn
(wuwinyhpwdwd jhwgnpnipin GGEn)

39,625.9

39,625.9

- W Swfuubin

4861

39,625.9

39,625.9

4. dGpwlwengdwl L qupquigdwl
Gypnuwluwl pwlyh wowlygnipywdp
hnwhwiwgynn «Gplwlh punwpuyhl
(nLuwynpnipjuly dpwghp (wuwwndhpwlydws

[hwqnpnipni GGER)

1,105,888.1

1,105,888.1

- W Swfuubin

4861

1,105,888.1

1,105,888.1
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5. Uplbywl GYpnwuyh tabpquifubGuynnnipjwl 668,386.3 668,386.3 -
L plwwwhwwlGwlwl gnpéplybpnippulb
bnlnh wowlgnipywdp hpwlwlwgynn
«&Gplwlh punwpuyhl (niuwynpnipuily
gpwdwGnphuyhl spwghp (wwandhpwlydwés
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 668,386.3 668,386.3 -

2660|06 | 6 | 0 | RPGwlhwnwluyhl ;hGwpwpnipjwl L YndniGuy 6,301,255.0 1,686,275.3 4,614,979.7
SwewynipyntGGEn (wy nwubphl swwnlyuwlnn)
nphg’

266106 | 6 | 1 |ROwywpwlwih( 2hGwpwnnipjwb L YyndntGuwy 6,301,255.0 1,686,275.3 4,614,979.7
SwrwjnipntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquiwpbwluwpwl 26GpLph hwpp 268,700.0 268,700.0 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp neptn 4269 268,700.0 268,700.0 -
2. Pwquiuwpbwluwpwl 26Gpbph pbip 401,465.8 401,465.8 -
wnwbhplbph Ybpwblnpngnid
- <wwnnty Gwwuinwywihb wyp pneptn 4269 401,465.8 401,465.8 -
3. Pwluyhl tnwipwdpllinh L 5,096,575.7 481,596.0 4,614,979.7
fuwnwhpwwwpwlGbph hhdGwGnpngnid ni
wwhuwwbnig
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 35,000.0 35,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 416,596.0 416,596.0 -
wwhwwntd
- Untpuhnhwbp ng wGwnwywb (ng hwdwbpwihb) ng 4521 30,000.0 30,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGGEnph Yurenigned 5112 410,366.2 - 410,366.2
- GLlpbnh L 2hOnepyntGObnph Yuwwhuwy yepwbnpngnid 5113 3,929,838.5 - 3,929,838.5
- Wy dbpbawobp L uwppwynpniibbp 5129 274,775.0 - 274,775.0
4. Pwquuwplwlupwl p6Gpkph punblwnqdwl 446,100.0 446,100.0 -
wyy wpfuunnuwliplbn
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 6,000.0 6,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 413,100.0 413,100.0 -
wwhwwntd
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpuwihb) ng 4521 27,000.0 27,000.0 -
$hlwluwywb Yugtwytnpwnipntbbbph
5. Ypwpuyhl wuwinyquidplbph Gnpngnid 88,413.5 88,413.5 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 88,413.5 88,413.5 -
wwhwwlntd

270010710 | O unnaaunu<nt@3Ntu 358,940.0 99,340.0 259,600.0

wyn pynLd’
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2760 | 07 0 | Urnnowwwhnipynib (wy nwubphla 358,940.0 99,340.0 259,600.0
swunlywilinig)
nphg’

276107 | 6 | 1 |Urnnowwwhwywl hwpwyhg dwrwnipntbbbp L 358,940.0 99,340.0 259,600.0
Spwgntin
wyn pynLd’
1. Upnnowwwhwlwl JuqdwlybpwnipiniGGbph 259,600.0 - 259,600.0
hwdiwn pdryuwluwl uwppwynpmdbbph b
qgniph dGrppbpnid
- Wy dbpbawobp L uwppwynpniibbp 5129 259,600.0 - 259,600.0
2. MdYuwnwidunsbrh hburnwgnunnipiniGG6ph 99,340.0 99,340.0 -
hpwlwlbwgnid
- Uwulwghunwyw swrwjnipjntbbbn 4241 99,340.0 99,340.0 -

2800080 | 0 <Uuahus, ucuuntsm@ 64 urnu 9,366,869.2 8,149,458.5 1,217,410.7
wyn pynLd’

2810|108 | 1 | 0 |<wdlquwnh L uwnpunp SwrwynipinLGGEN 2,977,972.1 2,540,561.4 437,410.7
nphg’

2811 08| 1 | 1 |<wlguwnh L uynpunh SwrwntpinLGatn 2,977,972.1 2,540,561.4 437,410.7
wyn pynLd’
1. UynpunuyhlG dhongurnidGbph 315,003.2 315,003.2 -
Yuqdwlbpwni d
- Canhwlntp pGnyph wyp SwrwjnLpnLtGbEn 4239 236,003.2 236,003.2 -
- Uy pbpwghy npwiw0Gnphbtn 4639 10,000.0 10,000.0 -
- Unppwlw(, dowyntpwihb L uynpunwihb Gwywuwnbbp 4727 48,000.0 48,000.0 -
pinLetihg
- LdhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 21,000.0 21,000.0 -
Juaquwybpwnipyntbtphl
2. <wlquinh gninhlGbph L gpnuuyghlGbph 520,252.7 82,842.0 437,410.7
Ywenignid nt wwhwwlnid
- EGGpgbuinhy swrwynipnLGGen 4212 39,000.0 39,000.0 -
- UndntGwy SwrwynipntbbBn 4213 8,000.0 8,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 10,000.0 10,000.0 -
wwhwwntd
- Uy pbpwghy npwiw0Gnphbtn 4639 25,842.0 25,842.0 -
- GLlpbph L 2hOnepyntG0Bnph Yuwwhuwy yepwbnpngnid 5113 390,610.7 - 390,610.7
- Wy dbpbawobn L uwppwynpniibbp 5129 46,800.0 - 46,800.0
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3. Gpluwlh priuwpwlwluwl uygnt 2,130,296.2 2,130,296.2 -
wnwpwdpm d whwnwewwnipwlh
Ywpn guwuiindwl wpfuwinwaplbn
- W Swfuubin 4861 2,130,296.2 2,130,296.2 -
4. <wuwpwlwluwl gniqupuwlabph 12,420.0 12,420.0 -
wwhwwinid L JGpwbnpngntd
- UndntGwy SwrwynLpntGbEn 4213 12,420.0 12,420.0 -

2820|108 | 2 | 0 |Upwlynipuyhl SwrewynipiniGGEn 6,385,897.1 5,605,897.1 780,000.0
nphg’

2821/08| 2 | 1 |Qpwnwnwalbn 850,631.2 810,631.2 40,000.0
wyn pynLd’
1. Qpunwpwluyhl SwewynipintGGEn 810,631.2 810,631.2 -
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 810,631.2 810,631.2 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. QnuinuwpwbGbph hwdwp wohpwdbun 40,000.0 - 40,000.0
qniph dGep papnid
- Ng GynLpwlwl hhoOGwywb shonglbp 5132 40,000.0 - 40,000.0

282208 | 2 | 2 |Bwlqwnwlbbp L gnigwunwhGbp 293,224 1 293,224 1 -
wyn pynLd’
1. Pwlqupwluyhl Swewyntpim GGEn L 293,224.1 293,224.1 -
gnigwhwinbulbp
- Untpuhnhwlbp ng $hOwbuwywl wtnwywl 4511 293,224 1 293,224 1 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2823|08 | 2 | 3 |Uwynyph wnlbp, wyniipbtp, Ysaunpnbbsn 683,290.7 683,290.7 -
wyn pynLd’
1. <wduylGpuyhl dpwlynyph L wquin dwdwlgh 683,290.7 683,290.7 -
Yuqdwlbpwni d
- UntpupnhwGtp ng $howbuwyub weEwnwywh 4511 683,290.7 683,290.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

282408 | 2 | 4 |Ujy Gywynipwihlt ywglwybnwnipntbGbp 3,375,393.4 3,175,393.4 200,000.0
wyn pynLd’
1. Vpwynipuyhl dhongwenidalbph 2,731,488.6 2,731,488.6 -
hpwlwlbwgnid
- Qnyph L uwppwynpnidbbph yupdwywinipinta 4216 3,900.0 3,900.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,380,431.6 2,380,431.6 -
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 56,157.0 56,157.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 1,000.0 1,000.0 -
- Uy pbpwghy npwiw0Gnphbtn 4639 265,000.0 265,000.0 -
- LdhpwwnynipntbGbp wy whniyp shGnwwGnnn 4819 25,000.0 25,000.0 -
Juaquwybpwnipyntbtphl
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2. YGhnwlwpwlwlwl wigm 443,904.8 443,904.8 -
gnigunpnipntGGGn
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 443,904.8 443,904.8 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. Ybonwlwpwlwlwb wygnt hhoGulnpngnid 200,000.0 - 200,000.0
- GLlpbnh L 2hOneyntGbEnph Yurenigned 5112 200,000.0 - 200,000.0

2825/08 | 2 | 5 |Upybuwn 1,122,357.7 622,357.7 500,000.0
wyn pynLd’
1. Gpuwdrwnwnybuwnp L wwpwpdbuwnh 177,999.6 177,999.6 -
hwdbpqlbp
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 177,999.6 177,999.6 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
2. Puwnbpwlwl Gapyuywgnidabn 444,358.1 444,358.1 -
- Untpuhnhwtp ng $hOwbuwywl wtnwywb 4511 444,358.1 444,358.1 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph
3. BunpnlGbph hhdGuwlnpngnid 500,000.0 - 500,000.0
- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid 5113 500,000.0 - 500,000.0

282708 | 2 | 7 |<niwndwlbbnh L Gowynipwiht wpdbpbbph 61,000.0 21,000.0 40,000.0
ybpwlwbglnid L wwhwwnid
wyn pynLd’
1. <nipwpdwlGbph Ypwlnpngnid L 61,000.0 21,000.0 40,000.0
wwhuwwbnig
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 3,000.0 3,000.0 -
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 18,000.0 18,000.0 -
wwhwwntd
- Ng Gynipwywl hhoOGwywb shonglbp 5132 40,000.0 - 40,000.0

2840|08 | 4 | 0 | Ypnbwluwl L hwuwpwlwlwl wy 3,000.0 3,000.0 -
SwewyntpynLGGEN
nphg’

2841|08 | 4 | 1 |Gphunwuwnnwywb Spwaptp 3,000.0 3,000.0 -
wyn pynLd’
1. Eppurnwuwnnulwl shonguwenidGbnh 3,000.0 3,000.0 -
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 2,000.0 2,000.0 -
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 1,000.0 1,000.0 -
Juaquwybpwnipyntbtphl

29001090 | O urPENH33NHL 48,738,240.1 47,761,368.2 976,871.9
wyn pynLd’
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Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub
pintobitnwihb wfuubph inbwnbuwghwnwyw

nuwuwywngiwb hnnwdétbph wodwOniibtpp

LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

9

2910

09

o

ULwfuwnuypngwlw L cnwppwlwl pGnhwGnin
Uppenipyntl

26,618,323.7

26,438,323.7

180,000.0

nphg’

2911

09

Lwfuwnwnngwywb Yppnipntl

17,939,780.0

17,759,780.0

180,000.0

wyn pynLd’

1. Vwfuw ngwlwl nunignid

13,881,780.2

13,881,780.2

- Untpuhnhwltp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

13,881,780.2

13,881,780.2

2. Lwfuw ngwlwl ntuntgdwl
Lwqiwlbnwdwl hwdwn wGhpwdbw gniph

dbrp pbpnid

210,000.0

30,000.0

180,000.0

- <wwnnty Gwwuinwywihb wyp neptn

4269

30,000.0

30,000.0

- Wy ubpbOwobp L uwppwynpniibbp

5129

180,000.0

180,000.0

3. Lwfuwi ngwlwi nLpjwl
hwuwGbhmppwl b npwyh wwwhnydnid
(wuwinyhpwdwd jhwgnpnipini GG6n)

22,872.6

22,872.6

- Untpuhnhwtp ng $hOwbuwywl wtnwywb
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

22,872.6

22,872.6

4. Unghuwywywt npn) fjudpbph 1.5-5
wnwpblwl Gpbluwlbph Gwiuwnuwpnguwlwl
Yppnipiwl wwwhnynid /wyuwwndhpwlyduws
[hwqnpnipini GGG/

806,275.8

806,275.8

- W Gwwuinbbp pinuotihg

4729

806,275.8

806,275.8

5. Nwnwluwl wowlgni piuwdp hpwlwlwgynn
Guwfuw ngwlwl ntunt0GuijulG
hwuwnuinnipint GaGph Yuenignid i

hhdGwGnpnqnid

3,000,000.0

3,000,000.0

- W Swfuubin

4861

3,000,000.0

3,000,000.0

6. Vwulwahunwlwl qupquigiwl b
Ywnduwinpni puil thnfujuwwwlygywd
hwdwywpgh GEpnpnd Gwiuwnuwpnguluwl
hwuwnuinnipint GGGph dwlyuwduwnpdGbphl
wnwnwlwnpgh 2Gnphdwl gnpdplpuwgh
Uhgngny/wunyppwlyywd jhwgnpnipini GaGGn/

11,403.4

11,403.4

- W Gwwunbbp pinuobihg

4729

11,403.4

11,403.4

7. Lwfuwnuwnpnguwlwl dpwapbn

hpnwlwGwglnn nium dGwluwl
hwuwnuinnipint GaGph dwbluwywndabnh
YEpwwuwwnpwuwnnid (wuwandppwlyduwéd

[hwqnpnipni GGER)

7,448.0

7,448.0

- W Gwwuwnbbp pinuobihg

4729

7,448.0

7,448.0

2912

09

Swppwywb pGnhwbnip Ypenipntl

8,678,543.7

8,678,543.7

wyn pynLd’
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1. <wlpwyppwlywl niunigntd 8,678,643.7 8,678,643.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 8,678,543.7 8,678,543.7 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

2920|109 | 2 | 0 |UhoGwlwng panhwGnip Yppnipina 11,392,140.5 11,392,140.5 -
nphg’

292109 | 2 | 1 |<pibwywhb pGnhwbnip Ypenipntd 11,056,383.8 11,056,383.8 -
wyn pynLd’
1. <wlpwyppwlywl niunignid 10,681,153.3 10,681,153.3 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 10,681,153.3 10,681,153.3 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Phwqhunwlul ninpunh wpwpluwlbbn 375,230.5 375,230.5 -
nuuwywannn niuntghsphG hwybwyswnph
wpwdwnanJ (wuwwndppwldwo
[hwqnpnipni GGER)
- W Gwwunbbp pinuobihg 4729 375,230.5 375,230.5 -

292209 | 2 | 2 |\UhoGwlywng (1nhd) pGnhwbnip Ypenipntd 335,756.7 335,756.7 -
wyn pynLd’
1. <wlpwyppwlwh ntunignid 335,756.7 335,756.7 -
- UntpupnhwGtp ng $howbuwyub wewnwywb 4511 335,756.7 335,756.7 -
(hwiwybpwh0) Yuwgiwytnpwnipntbbbph

2950|109 | 5 | 0 | Luwn vwlwpnwlGEph snwuwlwpgynn 6,661,488.8 6,528,691.4 132,797.4
Uppenipyntl
nphg’

295109 | 5 | 1 |Upunwnuwnngwlwl nwuwmhwpwyntejntb 6,661,488.8 6,528,691.4 132,797.4
wyn pynLd’
1. Upwnw ngwlwl nwuwnhwpwlynipini 6,397,806.0 6,397,806.0 -
- EGGpgbuinhy swrwynipnLGGen 4212 7,929.2 7,929.2 -
- UntpupnhwGtp ng $howbuwyub wewnwywh 4511 6,389,876.8 6,389,876.8 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
2. Upunw nquiywl Juqdwlbpwnipini GGG, 100,000.0 - 100,000.0
hwdwn wahpwdbiu gniph dbep pbpnid
- Wy dbpbawobn L uwppwynpniibtbp 5129 100,000.0 - 100,000.0
3. «<wiynp Ynomywily Yppwhwdughn MNUY- 6,793.0 6,793.0 -
nLd wpunuw nquiluwl nuwuwnhwpwlyni pjuwl
Yuwqiwlybpynid (wundhpwlduwé
[hwqnpnipni GGER)
- Untpuhnhwltp ng $hOwbuwywl wtnwywb 4511 6,793.0 6,793.0 -
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph
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LOnwikOp

wyn pynd’

Jwpswywl pjniot

$nlnwyhb pjniob

N

N

w

N

5

o Annywdh
MM

7

8

4. Gpwdrwnwywl L wpdbuwnh nupnglbbpnid
wqquyhl jwpuyhl L thnnuyhl Gdwquinwbbabnh
qény ntunignid

60,353.9

60,353.9

- Untpuhnhwltp ng $hOwbuwywl wtnwyw
(hwiwybtpwh0) Yuwgiwytnpwnipntbbbph

4511

60,353.9

60,353.9

5. Ywdwynp wnbuwnwynpdwl Gnp
hwdwlwpgh Gepnpnid” ninnywé
wnunwnupnguwywl nium dawluwl
hwuwnuinnipynt GGGph dwlyuwdwpdwlwl
wpfuwnnnlbiph npwlyh pwpdpwgdwln
(wuwinyhpwydwd jhwgnpnipin GG6n)

63,738.5

63,738.5

- W Gwwuinbbp pinuobihg

4729

63,738.5

63,738.5

6. Ununw ngwlwl uwqdwlbpuwnipini GGG,

bhdGwanpngnid L JGpwanpngnid

32,797.4

32,797.4

- GLlpbph L 2hOnepyntGbbnph Yuwwhuwy yepwbnpngnid

5113

32,797 .4

32,797 .4

2960

09

Unppnipywlp wnpwdwnpynn odwlnwly
SwewyntpynLGGEN

4,066,287.1

3,402,212.6

664,074.5

nphg’

2961

09

Unpntpjwlp unnpwdwnnpynn odwlnwy dwrewnipntblbn

4,066,287.1

3,402,212.6

664,074.5

wyn pynLd’

1. Vwfuw ngwlwl hwuwnwwnnipnt GGk,

Yupnignid L JGpuwlnpngnid

864,074.5

200,000.0

664,074.5

- GLlpbnh L Ywrenygltph pGewghy Gnpngned b
wwhwwntd

4251

200,000.0

200,000.0

- GLlpbnh L 2hOneyntGObnph Yuwwhunwy yepwbnpngnid

5113

664,074.5

664,074.5

2. ypnguywlbGbph ojhdwhwnwbbph b wy
Uhongwpem dG&ph uquiwlbpwnid

74,000.0

74,000.0

- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn

4239

74,000.0

74,000.0

3. Uinbuwnwiynpdwl dhongny twpwluwpgh
npwlwynpmd uwnwguwd niunighsGbphla
hwidwwuwnwufuwl hwybwySZwnpbbph
wpwdwnpmd (wwndhpuwldws

[hwqnpnipni GGER)

37,662.2

37,662.2

- W Gwwuinbbp pinuotihg

4729

37,662.2

37,662.2

4. <wlpwppwywl hhdGwlwb spwgpbn
hpwlwbwglnn niunt dGwlwb
hwuwnuinnpint GaGph hbppwlwa
wwnbunwynpiwl GGpwlw ntunighsGph
Yepwwuwwnpwuwnn d (wundhpwldwé

[hwqnpnipni GGER)

28,296.0

28,296.0

- W Gwwuwnbbp pinuobihg

4729

28,296.0

28,296.0

5. Ywdwynp wnbuwnwynpdwl hwdwluwpgh
G6pnpnid” nennywid niunighsGeph npwiyh

pwndnwagdwln

1,062,254.4

1,062,254.4

- W Gwwuinbbp pinuotihg

4729

1,062,254.4

1,062,254.4
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6. Uwpquiywl opiiywnGlinh 266G puyhl 2,000,000.0 2,000,000.0 -
wuydwllbph pwpbwdnd (wundppuwlydwéd
[hwqnpnipni GGER)
- Uj) Swiuubn 4861 2,000,000.0 2,000,000.0 -

3000100 | O unshuLuyuu MucSMULNH33NFL 2,042,256.5 1,960,026.5 82,230.0
wyn pynLd’

303010 | 3 | 0 | <wpwquuwnhl Ynpgpwd wadhlp 15,625.0 15,625.0 -
nphg’

303110 | 3 | 1 |<wpwquuwnhb Ynpgnwé wbdhlbp 15,625.0 15,625.0 -
wyn pynLd’
1. <wpwqun snLGGgnn wGdwag 156,625.0 15,625.0 -
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 15,625.0 15,625.0 -

304010 | 4 | 0 | Lauwbhph wonwdGbn L qudwlabn 80,892.2 80,892.2 -
nphg’

3041(10| 4 | 1 |CGnwOhph winwdttp L quyuwyltn 80,892.2 80,892.2 -
wyn pynLd’
1. Gpbfuuyh hpwyniGplabph L pwhbph 60,392.2 60,392.2 -
wupwnuwGnipint G
- Qnyph L uwppwynpnidtbph yupdwywintpinta 4216 1,200.0 1,200.0 -
- Uluwwnwywgih dwubwghunwywb qupgugiwl 4233 2,500.0 2,500.0 -
SwrwjnLpnLbbEn
- SEnGYwuinywywh swewjnipyntGbbn 4234 1,750.0 1,750.0 -
- Canhwlntp pGnyph w)p SwrwjnLpnLtGbEn 4239 8,192.5 8,192.5 -
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 15,451.5 15,451.5 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 3,200.0 3,200.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 28,098.2 28,098.2 -
2. Vpwlhynipuypl L Yppwlwl dhonguentdbabn 3,5600.0 3,500.0 -
Yuwlph nddwphl hpwypswlynid huyunGywds
GpGfuwbtiph hwdwn
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 3,500.0 3,500.0 -
3. Gptifuwlbphl wowlygdwl Gwwwnwlyny 16,000.0 16,000.0 -
huwnntly ublywlGbph unbinémd Gplwl
pwnuwph Jupswluwl ppowlbbpnd
- Uj) Swiuubn 4861 16,000.0 16,000.0 -
4. <wlpwyppuwlywl nupnglbnn d Gpbluwlbbph 1,000.0 1,000.0 -
hnwyniGpl&ph Jepwpbpuy
hnwqbyduwiéni pyul pupdpwgnd
- Ywrwwnswlwb swewjnipntbbbn 4235 400.0 400.0 -
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’

E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap

.;:-:;, 2 3| c cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet

el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 1213 |4 5 6 7 8 9

- Canhwlntp pGnyph wyp SwrwjnLpnLtGOEn 4239 600.0 600.0 -

307010 | 7 | O | Unghuywluwl hwwnnty wpainlGnupint GGG (wyy 417,791.3 335,561.3 82,230.0
nwubphl swuwnluwbnn)
nphg’

307110 | 7 | 1 |Unghwjwywb hwuwnnty wpunnOnipintGbbn (wy 417,791.3 335,561.3 82,230.0
nuwubphb swywunywbnn)
wyn pynLd’
1. Unghwywlwl wowlgnipjuwl Guphp 15,000.0 15,000.0 -
nLGbgnn plunwlhplbphl Yuynt b Ghwdniwn
wwwhnybynt Gwunwlny qpunywénipjwl
Snwgnpbipp yuqdwlybpwnid
- Canhwlntp pGnyph wyp SwrwjnLpjnLtbbEn 4239 15,000.0 15,000.0 -
2. Gpliwl hwduylph pGwlhsGbph 125,924.5 125,924.5 -
YGhuwdwlwpnwlyp pwplwydwll nuinnyuwds
OwuwinuwlyuyhG 6pwqpbph ppwlwilbwgnid
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 38,964.5 38,964.5 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 49,640.0 49,640.0 -
wwhwwntd
- Qpwubwyuwhb Gnipbp LW hwgniuwn 4261 1,500.0 1,500.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 23,570.0 23,570.0 -
- <wwnnty Gwwuinwywihb wyp neptn 4269 12,250.0 12,250.0 -
3. <wuwnpwluwlwl uqdwlybpuwnipini GGGphG 63,480.0 63,480.0 -
wowlgnipint G
- LuhpwwnynipyntbGbp wy pwhniyp shGunwwGnnn 4819 63,480.0 63,480.0 -
Juaquwybpwnipyntbtphl
4. Swppbp unghwywlw fudpbph hwdwp 33,080.0 33,080.0 -
Gplwl hwduylpntd npwlyw; unghwywlwl
Swipuynipyni 6GGph Guquwlbpund
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 24,080.0 24,080.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 9,000.0 9,000.0 -
wwhwwntd
5. Pwquwquiyuwly, Gphunnwuwnn b wyy fjudpbphl 118,559.6 41,329.6 77,230.0
wuwinluwlnn plGunwGhplbphl wowlygnipint G
- Canhwlntp pGnyph wy| SwrwjnLpnLtbbEn 4239 690.0 690.0 -
- Ushgwnuwihb L hwbpwhG ubbnh Ojnebn 4267 35,254.0 35,254.0 -
- <wwnnty Gwwuinwywihb wyp pneptn 4269 4,740.0 4,740.0 -
- W Gwwuwnbbp pinuobihg 4729 645.6 645.6 -
- Wy dbpbawobn L uwppwynpniibbp 5129 77,230.0 - 77,230.0
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za; =l o Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb ﬁ wjn pyntd’
E = % = pwdhaltnh, fudptph L nwubph, hOswtu Gub % = DOnwakap
.;:-:;, 2 3 _5 cﬂ_ pinLoGinwihG wiuubph nnbwnbuwghunwywb - = Jwpswyw pniot | $nbnuwjhb pneet
o nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7 8
6. Gpluwl pwnwpnd hwdwylGpuyhl 7,000.0 7,000.0 -
unghuywlwl dwpwynipini G0Gph GEpnGnLd L
hpwlwlbwgnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 7,000.0 7,000.0 -
7. Upunwluwipg ppwyhawlyGbpnd L 20,000.0 20,000.0 -
Ldwlwwnpy wy nGwpbpnid wiph ndduwphla
hpwyhswyEpnid huyunGywd wadwlg b
plawnwlhphlbphG wowlgnipint G
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 20,000.0 20,000.0 -
8. Gpluwlb pwnwph unghwywlywl 26,000.0 21,000.0 5,000.0
wowlgnipywl Yapwpbpyw; ywdwynp
fulnhplbpp (n16dwll nunnywé
UhongwenidGbn
- GLlpbnh L Ywrenygltph pGpwghy Gnpngned b 4251 5,000.0 5,000.0 -
wwhwwntd
- Ushgwnuwihb L hwbpwhG ubbnh OjneGn 4267 3,000.0 3,000.0 -
- W Gwwunbbp pinuobihg 4729 10,000.0 10,000.0 -
- Uj) Swiuubn 4861 3,000.0 3,000.0 -
- Wy dbpbawobn L uwppwynpniibtbp 5129 5,000.0 - 5,000.0
9. Unghwyjwlwl wowlygnipjwl Yuphp 8,747.2 8,747.2 -
nLG&gnn plwnwbhplbph hwdwn
hninwpywynpm pjwl Yuqdwybpnwnid
- Canhwlntp pGnyph wyp SwrwjnLpnLtbOEn 4239 8,747.2 8,747.2 -
309010 | 9 | 0 | Unghuwywluwl wwpwnwuwlnipintG (wy 1,527,948.0 1,527,948.0 -
nwubphl swuwnluwbnn)
nphg’
309210 | 9 | 2 |Unghwjwywl wwpunwwbntpjubp tnpwdwnnynn 1,527,948.0 1,527,948.0 -
odwlnwy dwrwnipintbbtn (wy; nwukphl
swwinywlnn)
wyn pynLd’
1. MGwnwlwlb hhdGwplGlph L 695,178.0 695,178.0 -
Ywquiwlbpuwnipint 6G6pH wfuwnnnbbnh
unghwywywl thuwpbpny wwwhnynid
(wuwwnyd hpuwiydwé jhugnpnipini GGGn)
- W Gwwuinbbp pinuotihg 4729 695,178.0 695,178.0 -
2. Uennontpjwl wwwhndwapnipinta 832,770.0 832,770.0 -
- Uywhnjwgnwywb dwfuubin 4215 832,770.0 832,770.0 -
3100(11]0 | O <hULuyuvu AUIhLLGNPL 2NUUYNN 197,500.0 9,233,410.0 50,000.0
nuU{NFUSU3hL dNuIGN
wyn pynLd’
311011 | 1 | 0 | << ywewywpnipjuwl L hwiwyGplbph 197,500.0 9,233,410.0 50,000.0
wwhniuwnuyhl pnhn
nphg’
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Pntpbuinuhb dwituutph gnpéwrwywl nwuwywngdiwb
pwdhaltnh, fudptph L nwubph, hOswtu Gub

=
E - E = "
E % E I’E 5_ pintobitnwihb wfuubph inbwnbuwghwnwyw % % Chnwathp Jwpswywl pniet | dnlnuwyhb pjniok
el =2 nwuwywpgiwo hnnwétbph  wodwonidatpp e
1 2 |3 |4 5 6 7
1 <4< hwiwybpbtph wwhniunwhG $nln 197,500.0 50,000.0
wyn pynLd’
4891 197,500.0 50,000.0

- Mwhniunwyhb dhongbbn

-Lwinyuwgntd wwheuinwihG $nlnhg $nbnwihb piniob
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